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B. SC. (GENERAL)
(BSCG/BSCM)
Term-End Examination
December, 2024

BBYCT-131 : BIODIVERSITY (MICROBES, ALGAE,
FUNGI AND ARCHEGONIATES)

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt any

four questions from Question No. 2-7.

1. (a) State whether the following statements are

true or false : 4x1=4

(1) Amphigastria are present in Junger-

manniales.

(1) Liverworts are wused for stuffing
beddings.
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(111) Stele in Rhynia is siphonostele.

(iv) Stomata in Equisetum are sunken.

(b) Choose the correct options from those given

in the parentheses : 4X1=4

(1) Arbuscles are formed in (ecto/endo)-

mycorrhiza.

(1) (Ascomycetes/Deuteromycetes) are the

fungi that only reproduce asexually.

(111) Illness due to ingesting of toxic fungal
metabolites formed in the food due to

fungi are called (Mycosis/Toxicosis).

(iv) The economically important red algae
in India include (Gracilarial

Spirulina).
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(c) Match the items given under Column ‘A’

with those given under Column ‘B’ : 4X%=2

Column ‘A’ Column ‘B’

(A) Stem has nodes (1) Fronds

and internodes

(B) Large megaphylls (1) Welwitschia

(C) Only two leaves (111) Tap

are formed

(D) Primary root (iv) Equisetum

system

2. Differentiate between the following points of

terms : 4x2%=10

(1) Bryophyta and Pteridophyta

(1) Monoxylic and Pycnoxylic wood

(111) Male cone and female cone of Pinus
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(iv) Transformation and Transduction in

bacteria

Bryophytes are widely used by people in the

cold temperature regions in their day to day

lives. Give a detailed account of the economic

use of bryophytes with examples. 10

(a)

(b)

(a)

(b)

(a)

(b)

Describe the major phases of the life cycle

of Polysiphonia. 5

Enumerate the characteristics of
Lycophyta. 5
Describe mycorrhiza. How does it help the

host ? 5

Describe the normal and coralloid roots of

Cycas. Illustrate with diagrams. 5

Explain the mechanisms of pollination and

fertilization in gymnosperms. 5

Define heterospory. Explain its biological

significance. 5
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7. Write short notes on any two of the following :
5x2=10
(1) Viral envelope
(11) Genetic recombination in bacteria
(111) Phycocolloids

(iv) Fungal diseases in animals and humans
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(i) foeem &1 SHM TR enfs |
TH & fou fea s 2

(i) EAFTH W H ARy g Bl
(iv) sFigier o it &9 gC W B 2

(9) Iesi § fou U faewmedi § 9 Ut fasmey
! T 4x1=4

(i) “HIH (FEERA)  (SAd/ER)
FHoshuel | U W 2

(i) (TEREEfAES/EREEfRES) ™
Fak T W fah owifen w9 9
S F R

(iii) 9SM § wasl ®T UM & FHROT
faued wowig SUUEES @

JARU W OBH G

(ATEITaa/fFH ) Fean T
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(iv) 9 o e wee & o el

o (JARa e aftmted
gl
(W) wfem ‘31’ H fu T eEeH #H HieH
Y T R 4x=2
Hiew ‘3t e ‘a’
A @@ & vd ik wd () vl (wie)
Tt it &
(B) =2 defuvi (wmftrer) (i) Fewiferar
(C) fow < wfeal st € (i) gEem
(D) werfe ot o (V)  giaics
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2. frefafes o & Sl & o= i@ adrRy .

4x2Y%=10

() SR AR REwE

(i) ThSksh  (HAMNTE(CT) AR oSS

(TaaISEfcTeh ) T3

(iii) wE7E & W AN A= TR

(iv) SfemEl o ®wwe  (EwmyE) e

TRSRHUT (ZTHSHRH)

3. 3¢ & H WA ol AfKEl gN SREhESH F

ST AMYe &9 9 o9 <% Stad § TR

STl B1 SERIEEE % oY SN w1 foga

oo e 10
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. () TAGEETE & Sited 9% Bl A
JraEeral 1 AU Hifeg| 5

(9) CIEhHITES hi foagivad saEu) 5

. (31) IR (HIZHRIEST) hl Ui SIS T8
fFe YR T 1 WEEA FA R 2?5

(q) TEFT F A R Jad goli 1 G

U Hifeq| 5

. (@) feerd (orgasitsEl) § W 3R

o= =t foranfafeal =1 T 5

() fowmssmoma w1 aRwifm *iNw s&6

o

Sfas A & SdrEy 5

. fefafeas & @ 5t @1 w @y fewfmr
fafey 5x2=10

(i) TooTo k1 STeR
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(i) Shampt # ogatee EEm (SHfew
EAIL=ENED)

(iii) hTSehIchiciised

(iv) el iR O o sheshia A

XX XXXXX

B-1466/BBYCT-131



